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Class-6 

Social Science 

 I.MCQ 

1.Who was the first man to step on the surface of the moon? 

a.Rakesh Sharma               b.Neil Armstrong     

c.Mahatma Gandhi           d.Sonia Gandhi 

2.The Prime Meridian passes through a place called…….. 

a.Scotland                         b.Switzerland 

c.Sydney                            d.Greenwich 

3.Assertion-Reason 

Assertion- Remains of square or rectangular houses have been found in 

Mehargarh. 

Reason-Palaeolithic tools were still made and used in Neolithic Age. 

a.Both A and R are true and R is the correct explanation of A. 

b.Both A and R are true but R is not the correct explanation of A. 

c.A is true but R is false. 

d.A is false but R is true. 

4.The ‘Discovery of India’ is a book written by………….. 

a.Jawaharlal Nehru                        b.APJ Abdul Kalam 

c.Khushwant Singh                        d.Kavita Singh 

II.Look at the picture given below and answer the following questions. 

1.Which is the longest latitude? 

Ans. Equator is the longest Latitude. 



2.Define- Northern Hemisphere.                                        

Ans.The part of the earth from equator 

To the north pole is called northern hemisphere.  

3.Identify the latitude passes through  

India. 

Ans.Tropic of cancer passes through India. 

III.Answer the following in 1-2 lines(VSA) 

1Q.What did the people do to store  grains? 

Ans.People made large clay pots or wove baskets or dug pits into the ground to 

store grains. 

2Q. Why is Earth known as the ‘Blue Planet’? 

Ans.1.Nearly one third of the Earth’s surface is covered with water in the form of 

oceans, seas, rivers and lakes. 

2.Due to this when seen from space it appears blue in colour. 

Hence it is known as the ‘Blue Planet’. 

 IV.Answer the following in 3-4 lines(SA) 

1Q.A cricket match begins at 10:30 am on January 10 in New Zealand (time zone 

of GMT+12). Tell the time in Greenwich when it is shown live on TV there. 

Ans.New Zealand lies in time zone of GMT+12, ie it is 12 hours ahead of 

Greenwich or Greenwich is 12 hours behind New Zealand. So when it is 10:30 am 

on January 10 in New Zealand, it is 10:30 pm on January 9 in Greenwich. So the 

cricket match will be telecasted from 10:30 pm on January 9 in Greenwich. 

2Q.Make a comparision between Palaeolithic Age and Neolithic Age. 

Ans. 

Palaeolithic Age Neolithic Age 
1.People were hunters and food-
gatherers. 

1.Pople domesticated animals and started 
producing food. 



2.People wore clothes made of 
animal skin and bark of the tree. 

2.People weaved clothes and began using 
cotton to cover themselves. 

3.People lived in caves and moved 
from place to place. 

3.People started to settle at one place. 
They built mud houses and huts. 

4.People did not know how to make 
pottery. 

4.Invention of wheel and pottery making 
was an important feature of the age. 

 

V.Answer in detail(LA) 

1Q.’India is a country of many diversities’. Explain giving examples. 

Ans.One of the special feature of India is that it is a country of many diversities. 

For example- 

1.We speak different languages, such as Hindi, Punjabi, Gujarati, Marathi etc. 

2.We eat  different kinds of food, such as chawal, dal, rajma, idli, dosa, roti, 

dhokla etc. 

3.We celebrate different festivals such as Holi, Diwali, Id, Gurpurab, Christmas, 

Baisakhi etc. 

4.We practice different religions such as Hinduism, Islam, Sikhism, Christianity etc. 

 


